Estimate 51242

PR Quotation NAUTICA #51242 SG Survey – Riva 63 Virtus 7 July 2017 PR Nautica Ltd. Date From Eastern Hangar, Lawrence 51242 Quotation Number Road Plymouth, Devon PL9 9SJ GB 6 August 2017 Expiration Date STERLING GLOBAL MARINE То LIMITED

4 St Georges Road, Fordingbridge, Hampshire,

Fask			Rate	Qty	Amount
Softwood Fo supply	-	on of Softwood bungs.	£5.12	6	£30.72
Small Set	Length	Diameters			
2	4cm	I cm tapering to 0.5cm			
2	4.9cm	1.5cm tapering to 1cm			
2	6.1cm	2.2cm tapering to 1.4cm			
1	7.1cm	3.0cm tapering to 1.8cm			
1	8.1 cm	3.3cm tapering to 2.3cm			
I	10.2cm	3.9cm tapering to 2.9cm			
I	12.2cm	4.6cm tapering to 3.4cm			
orch			£9.32	6	£55.92
Fo supply	a Waterp	proof Torch c/w Spare Bulb			
Fire Bucke	t		£8.41	2	£16.82

To supply a 3 Gallon bucket c/w 8mm floating line

Life Ring To supply a 30″ Lifebuoy 2.5kg MCA c/w S/S mounting bracket, 18m floating line, SOLAS Light, Light Bracket and Kim Drogue and Pocket Also to include vinyl lettering of vessel name and port of registry	£141.61	1	£141.61
Portable VHF To supply an Icom M25 waterproof floating handheld VHF.	£120.65	1	£120.65
VHF Message Card Brief and clear operating instructions to be marked on the portable VHF.	£6.50	1	£6.50
	60 G 17	1	50 G 17
MCA Code of Practice To supply a MCA code of practice training manual.	£96.47	1	£96.47
Anchor Balls To supply a 24″ Canvas Signal ball.	£91.52	3	£274.56
Harnesses To supply a Kim Cruising Adult Harness c/w attached line	£48.70	2	£97.40
Ear Defenders To supply a pair for 3M PELTOR 31db Ear Defender c/w headband	£25.25	1	£25.25
Life Jackets To supply an ISO 12402 inflatable life jacket c/w light and whistle	£136.34	2	£272.68
Life jacket Whistles To supply whistles with lanyards to fit to the existing lifejackets.	£1.04	12	£12.48

Grab Bag	£48.67	2	£97.34
Sea anchor and line	£72.50	2	£145.00
First aid kit	£13.27	2	£26.54
Signalling mirror	£6.73	2	£13.46
Whistle	£1.04	2	£2.08
DOT approved radar reflector.	£145.07	2	£290.14
Thermal protection aids for all (6 per grab bag).	£12.96	12	£155.52
SOLAS No. 2 table.	£3.54	2	£7.08
Charts	£539.50	1	£539.50
To supply a 32P+ Western Platinum Chart to cover from the West coast of Italy to Gibraltar and a 31P+ Iberia to cover the Portugal Coasts, Azores and Canaries.			
Almanac and sailing directions for the areas of operation	£0.00		£0.00
Please confirm areas required			
Flares (2 rocket, 3 hand and 1 buoyant orange smoke flares.) Shipping these items will be cost prohibitive, we advise sourcing these locally	£0.00	2	£0.00

£0.00

£0.00

Under the MHRA rulings which came in a couple of years ago these can only be supplied directly to the end user – This should be purchase locally

Subtotal	£2,427.72
Shipping	£295.00
Total 🕜	£2,722.72

Terms

Please note our terms of business that apply, as per British Marine Federation Terms of Business Edition 15a.

Our full terms and conditions can be found at <u>https://prnautica.com/terms-of-business/</u>

	Pound Sterling (£)	Euro (€)	
Account Name:	PR Nautica Ltd.		
Account Number:	23222691	46975188	
Sort Code:	20-68-10	20-68-10	
IBAN:	GB73 BUKB 2068 1023 2226 91	GB94 BUKB 2068 1046 9751 88	
BIC:	BUKBGB22	BUKBGB22	

Registered in England 05692821, VAT No. 878 3861 63, EORI No. GB878386163000



🔇 https://prnautica.com 🛛 🖂 web@prnautica.com